Division Patterns with zeroes

Divide the following.

A 35+ 5= . _L 160,000 + 8 =
I 350 + 5= ; 16,000 = 8/ =
: 3,500 +5 = I 1,600 + 8 =
I 35000 +5 = : 160 + 8=

: 350,0’OO‘ +5= | T 16 |+ 8=

In each of the following division sentences, fill in the
missing number.

k| L —3= 3 L r. 84 — 4:= ..........
I Q0| + 3= | | |  eererenn ; BAD - A=l | | | e
; 900 * .. = 300 I 8,400 + = 2,100
; 0,000 +|3= | | oo I ................. 3 7 - S N
o) | Lol + 3= 50,000 I EE L A O +4= 210,000
_:,, 900,000 %+ 3= | .. J 8,400,000 + 4= [ e
; ..... | IO ! + 3 =| 3,000,000 :, 84,000,000 =+ ...= | 21,000,000
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Division Patterns with zeroes

Divide the following.

a 35+ 5= 7 " 160,000 + 8 = 20,000
,T). 350 + 5= 70 ; 16,000 + 8= 2,000
;c., 3,500 +5 = 700 'h. 1600 + 8= 200
; 35,000 + 5 = 7,000 : 160 + 8= 20
e | 350000:5= | 70,000 i 16+ 8- 2

In each of the following division sentences, fill in the
missing number.

k 9.+ 3= 3 . 84 + 4= W21
0 90 + 3= .30, s, 840 + 4= 210
E 900 + 3. = 300 1‘ 8400 + 4 = 2,100
n. 9000 * 3= 3,000 u. 84000 : 4= 21,000
o | 99000 +3- [ 30,000 v, 840,000 : 4= 210,000
b 900,000 + 3=_| 300,000 ‘w. 8,400,000 = 4= |2100,000
a 2,000,000 .+ 3 =13,000,000 x. 84,000,000 + 4 = [21,000,000
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